Af B R x ( BRIE )
KEFT OV TUIBLZ & ERVE

A E 5 BED % 40 S
T = £ ER27HE BERMRUMBRIBERIEIRTIS (GE1X)
B R & % 1=k I = & Fr R BEELEZHIRIZE
A #l H TR 27 12 B 21 B A K& OFR BEORE BRETS 3B AREBR
2MHMFEH ¥R 27 £ 12 8 28 B
¥ E I &1 ¥ 27 F 12 B 29 B TR ER 28 £ 3 A 22 8
I %= i #% ¥ 10,830,000 .- F OE O O ¥ 10,775,000 .-
B 1 ) R i 4% ¥ 8,825,000 .- * fL % ¥ 10,740,000 -
& #l H ZHITZE ()

ARSMERSE gy R | HE s " =
1| (%) BB 10,830,000
2| (B) &g 10,830,000
3 |PURBAR IR (FR) — B
4| (B) ALREs — x 1B
51 (BR) 7% 10,830,000
6 |BrRaEE= (B) 10,830,000
7 IRAEIBIE (7R 10,830,000
8 | (B) BB — # R
9| (B BRELIAN — # R
10 |RIRERTE (7R 10,830,000
11 (ZHIZE (¥ 1 10,740,000 Z A
12| FEEE () 10,820,000
B3| EEGE (K 10,800,000
14
15
16

Lk 13

¥E LEAEIC1005 O8I Y T 2B AINE L= &4 U7 A6 Lo HIARIER DAL Thd,




